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Math Operations Notes

One-Step Equations: Multiply and Divide

Objective – SWBAT solve one-step equations (addition, subtraction, multiplication, division) 

Quick Questions – Quick Question
	PROBLEM
	What operation needs to be undone here?
	What’s the inverse operation?
	Solve for the variable by using Algebra’s Golden Rule
	Check your work!
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 3 = 24
	
	
	
	

	   120  = 4x


	
	
	
	


Notes!
	PROBLEM
	What operation needs to be undone here?
	What’s the inverse operation?
	Solve for the variable by using Algebra’s Golden Rule
	Check your work!

	m ( 3 = 21
	
	
	       
	

	32 = 4m

	
	
	
	

	   m 
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Check For Understanding
1) The operation that needs to be undone in this problem is…

                                         m ( 7 = 14 
a. subtraction

b. multiplication

c. division

d. addition

2) 
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 = 3 can also be written as…?

a.  m + 9 = 3

b.  m ( 9 = 3

c.  m 
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 9 = 3

d.  m – 9 = 3

3) What is the inverse operation you need to apply to this problem?

 24 = 6m
a.   addition

b. multiplication

c. subtraction

d. division 

4) Princeton is trying to solve for m. He drew a railroad track to separate the two sides of the equation. What should he do to both sides of the railroad track?
                            m 
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 2 = 10
a.   Multiply both sides by 10

b. Multiply both sides by 2

c. Subtract 2 from both sides

d. Divide both sides by 2

5) Cassie thinks she should multiply both sides of the railroad by 3 to get the answer. Is she correct?

                     18 = 3m

a. yes

b. no

6)  Lloyd wants help solving this problem. What should he do to both sides of the railroad track?
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 = 24
a. Add 6 to both sides

b. Subtract 6 from both sides

c. Divide both sides by 6

d. Multiply both sides by 6

Let’s Try
	PROBLEM
	What operation needs to be undone here?
	What’s the inverse operation?
	Solve for the variable by using Algebra’s Golden Rule
	Check your work!

	7h = 35
	
	
	      
	

	18 = g 
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	12 = 
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Math HW (One step multiplication and division)
	PROBLEM
	What operation needs to be undone here?
	What’s the inverse operation?
	Solve for the variable by using Algebra’s Golden Rule
	Check your work!

	3h = 15
	
	
	      
	

	6 ( g = 18

	
	
	
	

	   5k  = 30
	
	
	
	

	20  = 
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	2 = 4f


	
	
	
	

	10  = 
[image: image11.emf]


€ 



x
5










   

x

5



	
	
	
	

	15 =  g ( 3
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